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properly printed; your Test booklet is not damaged in any manner and contains 150
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Make sure to fill the correct Test booklet code on Side 2 of the OMR Answer Sheet. If the
space for the Booklet Code is left blank or more than one booklet code is indicated therein,
it will be deemed to be an incorrect booklet code & Answer Sheet will not be evaluated. The
candidate himself/herself will be solely responsible for all the consequences arising out of
any error or omission in writing the test booklet code.

This Test Booklet consists of 20 pages containing 150 questions. Against each question
four alternative choices (1), (2), (3), (4) are given, out of which one is correct. Indicate your
choice of answer by darkening the suitable circle with BLACK/BLUE pen in the OMR Answer
Sheet supplied to you separately. Use of Pencil is strictly prohibited. More than one answer
indicated against a question will be deemed as incorrect response.

The maximum marks are 150. Each question carries one mark. There will be no negative
marking. The total time allocated is 90 minutes.

Do not fold or make any stray marks on the OMR Answer Sheet. Any stray mark or smudge
on the OMR Answer Sheet may be taken as wrong answer. Any damage to OMR Answer
Sheet may result in disqualification of the candidate.

On completion of the test, candidate must hand over the Test Booklet and OMR Answer
Sheet to the invigilator on duty in the room/hall.

Use of Mobile phones and calculators etc. are not allowed.
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Keep all your belongings outside the Examination hall. Do not retain any paper except the
ADMIT CARD.
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NOTE:

(i) There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child
development and pedagogy — 30 questions, English Language — 30 questions and Punjabi Language — 30
questions. There are 90 questions in total in Section—A in which the Child development and pedagogy is
bilingual.

(ii) Section B comprises of Mathematics — 30 questions and Environmental Studies — 30 questions. The Section — B
is bilingual (English followed by Punjabi).

SECTION - A
CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) — 30 QUESTIONS (1-30)
1 The best method to study growth and development of the child is:
(1) Psychoanalytic Method (2) Comparative Method
(3) Developmental Method (4) Statistical Method
1 g9 €t feut w3 feam e mfers aos €t A9 3 =ubr fedt &
(1) H&-femgre3va feut (2) IBEIHT feut
(3) feammava feat (4) Aifymrat fegt
2 Vygotsky proposed that Child Development is:
(1) Due to genetic components of a culture (2) A product of social interaction
(3) A product of formal education (4) A product of assimilation & accommodation
2 fedranat e gsmy At fa g% feam 9
(1) FAfa3t € Asfed 33T I9s (2) AH™HE H33fmr & Gur
(3) Gugraa fafem €1 QuA (4) MiFEs M3 Mggse o Gud
3 Socialization is a process by which children & adults learn from:
(1) Family (2) School (3) Peers (4) All of these
3 AHaas fea yfeprr I fam aat 79 w3 o731 fan 3° e 9
(1) ufg=Tg (2) A9® (3) IH-g39™ ATET (4) Qudaz A9 Tt
4 If a child has mental age of 5 years & chronological age of 4 years than what will be the 1Q of child:
(1) 125 (2) 80 (3) 120 (4) 100
4 # feq 99 € Wafid W 5 i® W3 THMHT W™y 4 A% J, 3° 89 € 1Q &t I
(1) 125 (2) 80 (3) 120 (4) 100
5 What should be the role of teacher in meeting the individual differences:

(1) Try to know the abilities, interest & aptitude of individuals
(2) Try to adjust the curriculum as per the needs of individuals
(3) Both (1) & (2)
(4) None of these

5 fot H39® 95 B nftwug € &t givar 3t oaiet &
(1) fera3tu it darsT=t, gat w3 yfeadt & Arear
(2) fomadtt St 83T nigHTd UsgH § T8

-~

(3) 8= (1) M3 (2)

(4) Gudazs feg agt <t aqt

6 Which one of the following is the true statement corresponding to Cephalocaudal Principle of
Child’s Development:
(1) Development is from head to foot (2) Development is from foot to head

(3) Development is from middle to periphery  (4) None of these

6 g9 € feam € fAg-yendt fiu's € nggs fausT aus Aat 3
(1) feamr eI e sa der g 2)fearig I fAe 3T Jer T
(3)feamHT I Quasa derd (4) feqt feg aet = aat
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7 Which of the following is the true statement in reference to intelligence:
(1) Intelligence is the ability to adjust (2) Intelligence is the ability to learn
(3) Intelligence is the ability of Abstract Reasoning (4) All of these
7 g4t @ ¥y fev faosT aus Adt
(1) g0t M5g® g8 & HarzT I (2) g4t fRye &t GarsT I
(3) g0 FuH 39 €1 GarzT I (4) Quda3z A9 Tt
8 Which of the following is not the tool for Formative Assessment in scholastic domain:
(1) Conversation Skill (2) Multiple Choice Question
(3) Projects (4) Oral Questions
8 fafamrave 839 few TesaHa Hatae e Quaes fagsT a4t 3
(1) TISBY JHBIT (2) ay-feagsut 9 =& yrs
(3) Yrae (4) Hfua yas
9 Term PSRN in development implies:
(1) Problem solving, reasoning & numeracy (2) Problem solving relationship & numeracy
(3) Perceptual skill, reasoning & numeracy (4) Perceptual skill, relationship & numbers
9 fea™ fe9 PSRN UE " H3BY I
(1) Problem Solving, Reasoning & Numeracy (2) Problem Solving Relationship & Numeracy
(3) Perceptual Skill, Reasoning & Numeracy (4) Perceptual Skill, Relationship & Numbers
10 “A Child can think logically about objects & events” This is the characteristic given by Piaget of stage:
(1) Sensory Motor (2) Pre Operational (3) Concrete Operational (4) Formal Operation
10 | “ggr TAgMT W3 WeaT= 9 I9fad a1 5% A9 AaeT J1” feu fermsT fumw =& faust wiemar
et fadt ot 9
(1) A=<t g (2) UII-HIBST (3) AE® ATB&T (4) QUTIT AT E
11 Which of the following does not belong to the categories of Coping strategies that women
commonly engaged in:
(1) Acceptance (2) Resistance (3) Revolution (4) Adaptation
11 | fgosr @4t Arua a3t € Y=9dIt 578 AYT &d1 3 yer fAn feg #ieat W 39 3 HAgs afdeit 9
(1) rtfa St (2) yf33u (3) i3t (4) METBE
12 Frobel’s most important contribution to education was his development of the:
(1) Vocational school  (2) Kindergarten (3) Public School (4) Latin school
12 | 9% © fAafymr § AT 3 U HO3TYIs Wae's ER e
(1) fe=nfed Ag® e feam A (2) fazaarges e feam At
(3) UafBa Ag® o feam A (4) Bfes Ag® e feam At
13 Which article enjoins that “All minorities whether based on religion or language shall have the
right to establish & administer education institutions of their choice”
(1) Article 29(1) (2) Article 29(2) (3) Article 30(1) (4) Article 30(2)
13 | fga3 migew feu feg feene fa, “Ard msy-ifuvra 979 €9 I 3 mrorfag g5 AT Tow €uq,
€37 & WSt wie ©t d€ <t AnE RETfuz w3 RS 99s e wfaare O
(1) Mgee 29(1) (2) Mge<e 29(2) (3) Migew 30(1) (4) Mige< 30(2)
14 In CCE, Formative & Summative Assessment totals to:
(1) 40% & 60% respectively (2) 60% & 40% respectively
(3) 50% & 50% respectively (4) None of the above
14 | ccE feg, 395N M3 AASEINT HBTdS &7 g8 AT ¢
(1) IHITT 40% M3 60% (2) IHRTT 60% M3 40%
(3) FHIT 50% M3 50% (4) Budaz feg gt = &t
15 A few students in your class are exceptionally bright, You will teach them:
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(1) Along with the class (2) Along with higher classes
(3) By using Enriched programmes (4) Only when they want

15

30t awH feu gy fefenradt ferm 39 3 guhis g51 3A €97 & uzrGan:
(1) TBHE EF (2) BT IBHT FTH
(3) AT Y1 St f93 dd o (4) 3<% B¢ Ae Bu 9g=

16

Determinants of Individual differences in human beings relate to:
(1) Differences in Environment

(2) Differences in Heredity

(3) Interaction between Heredity & Environment

(4) Both Heredity & Environment interacting separately

16

W3 ut feg fawt waset @ faguaa fan s Efus 9

(1) uferr=as feg 739

(2) feam3 feg %39

(3) feaHz w3 ufenr=as feg wzafemr

(4) Y Y 3¢ 5B MIIPA™ I9 3d €< feamaz w3 ufgn=as

17

Gardner formulated a list of seven Intelligencies, Which among the following is not one of them:
(1) Spatial Intelligence (2) Emotional Intelligence
(3) Interpersonal Intelligence (4) Linguistic Intelligence

17

argsS6d & A S Uty € gt gt | 35 fafit fev fea fagst st o
(1) Agfea STT(2) = IHT §T  (3) WII-fomafaa gat  (4) ITHTeT g Ut

18

Creative writing should be an activity planned for:

(1) Only those children reading on grade level

(2) Only those children spell & write cohesive sentences
(3) Only those children who want to write for newspaper
(4) All children

18

JosTINT By< feq grdifent 3t gatet I fan €t GasT fagt sgt 9=
(1) ISE o Ig MU IF BB I U W I8

(2) d=% €7 g9 fAT= mae-13 73 Agd3 7 f8Y Aae 75

(3) I=B 9T 99 mygaT Bl fBysT Ide I&

(4)Ag §9

19

If a child writes 16 as 61 & gets confused between b & d, this is case of:
(1) Visual Impairment  (2) Learning Disability (3) Mental impairment (4) Mental Retardation

19

HE9761 % 16 fayer I3 b 3 d feg Qo AfeT 3, feo farm eram o
(1) fewet feara (2) fAye fagtiarar  (3) Wafia feara (4) IsTAa M=3T

20

The major purpose of diagnostic test is that of Identifying:
(1) The General area of weakness in class performance

(2) Specific nature of remedial Programme needed

(3) The causes underlying academic difficulties

(4) The specific nature of pupil difficulties

20

feefad udhye & Wy 3< fan & ugs adaT &
(1) IS € Yedns feg aHHdt & AUes 8439 (2) B31e Quamdt Yo &t femm yfaest
(3) MareHa HAfa®T & 9% (4) fefemmaghit St yafast & fenm yfaast

21

Special education is related to
(1) Educational for talented students (2) Educational programmes for disabled
(3) Training programmes for Teachers (4) Training programme for retarded

21

feim fafanr far o5 féfug o
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(1) ygu fefenragt set fAfu Gy
(2) fesatrar fefanragnt set o Garm
(3) mfpHmuart et et GarH

(4) nieg'T fefonmadint w8t frasTet Jarm

22 Which of the following Motives are considered as primary motives:
(1) Physiological Motives (2) Psychological Motives
(3) Social Motives (4) Educational Motives
22 | fgos yudst § yraiid Yens fagr arer &
(1) Adte-fefarsa yers (2) Hafefarrsa yoins
(3) AT YEAS (4) fafermava yaas
23 Cognitive Development means:
(1) Development of intelligence (2) Development of child
(3) Development of Physical Skills (4) Development of individual
23 | AfarrrsTand fea™ e H3BY O
(1) gat e fegmw (2) g9 @ feam
(3) A9 IHS 3T =7 fea™m (4) fomaat e feam
24 Which of the following are the External Factors affecting the interest of students in classroom:
(1) Emotions & Sentiments (2) Culture & Training
(3) Attitudes of students (4) Goals & motives
24 | gmgH feu fefenragn €1 fesamit § ygrfes a9s =8 998 T9d faus I
(1) 7@ M3 Bwarg (2) AAfST w3 frusTet
(3) fefenmaghnt &bt yfeaatut (4) BaF M3 Gen
25 It is said that teacher should be resourceful, This means that:
(1) He should have enough money & property so that he may not have to take up tuitions
(2) He should have contacts with high authorities so that he may not be harmed
(3) He should have adequate knowledge so that he may be able to solve the problems of students
(4) He should have good reputation among students so that authorities may not be able to take any
punitive measure against him
25 | feg fagr Aater I fa ‘cfdferua Arus-ils g gter 37 few e vase 3 fa:
(1) €7 3% #aT A M3 Frfeere 3= fa 67 § fe@uat &7 gaatnt U=
(2) €w = §9 »ifgardtt 578 Auda 3< 37 fa €7 @7 gaA™s &7 I Aa
(3) 87 3% Quwa3 famns 9= 37 fa Qv fefenmagtyt €t mifi=t & T% a9 AT |
(4) BW €t fefenmaatt feg Saft yfswsT 3= 3t fa nifaa<t 87 € fuse det €331 aa=Tet &7
dd HA<Z |
26 As a teacher what techniques you would follow to motivate students of your class:
1. By setting induction 2. Use of black board
3. By illustration 4. By active participation of students
(1)1,2&3 (2)1&4 (3)2&4 (4) All of these
26 | nifgrue = AT MUt IBTH € fefenadin § Ufes d9s T3 faust Saslat € =93
adr:
1 YA =S T Hedd o 2 939 §93 €t <93
3 femetat gat 4 fefenmaght € AadeH AIHBTI Iat
(1)1,2m3 3 (2)1 M3 4 (3)2 M3 4 (4) Budaz A It
27 Who was the pioneer of Classical Conditioning:
(1) Skinner (2) Pavlov (3) Watson (4) Thorndike
27

IBTHIAT MEIBS € Ud<d3d d< HI:
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(1) Afaaa (2) U=8< (3) SHS (4) §I&3TET

28

The term Identical Elements is closely associated with:
(1) Similar test questions (2) Jealousy between peers
(3) Transfer of learning (4) Group Instructions

28

‘s I’ Ue T fadesd T fan 575 3¢
(1) S udtfem yrs (2) IH-339 fegdarg daur
(3) fAye & oAz 39s (4) A fAfgwT

29

What are the factors related to learner that effects the learning:
(1) Physical & Mental health of the learner (2) Level of aspiration & achievement motivation
(3) Readiness & Willpower (4) All of these

29

frafimraet &% Frifag faod T9a 95 fAgs fAys Qua »Ag uEe Is:
(1) fAfuraEt €7 Adted W3 Hsid ARTHE (2) midifad™ miz Qusedt mfsyaa &t udg
(3) I3UI3™ M3 fegT-Ha3t (4) Budazg Arg Tt

30

An intelligent student is not doing well in studies. What is the best course of the action for the teacher:
(1) Wait till he performs better (2) Find out reason for his under achievement
(3) Give him grace marks in the examination  (4) Ask his parents to withdraw from school

30

g femast ugmet sta Igt &at a9 faar| mfrua =3 ara=Tet € A9 3 &30 feut ot 9
(1) fiaT fog 87 &7 yars §u39 &4t J AfeT, = fog f3ma ad

(2) €W &t W QusEd! T I95 HEH a9

(3) ydtfnrr feg 8w & fonrfest wia fe€

(4) €7 € W & 39 fa 67 & g feg' ger 8=

ENGLISH LANGUAGE - 30 QUESTIONS (31-60)

Read the passage carefully and answer the questions (Q. 31-37) that follow by choosing the best
alternative:

In these times of worldwide skyrocketing energy costs, experts are turning to perhaps the only
energy source that is still immune to price fluctuations: the Sun. Economic necessity appears to be
largely responsible for the rapidly growing acceptance of solar heat as an alternative source.
Electricity has been a clean and versatile form of energy that continues to grow in importance for
lighting, heating and cooking, and for powering our increasingly automated and computerized
society. The demand for electricity is expected to grow more in future than the average trend in the
past. A mix of energy sources is required as hedge against shortages in any one area, and the
electricity supply companies are taking a second look at renewable generating technologies,
particularly those based in the sun. Every 15 minutes, the sun delivers to earth radiant energy to
meet all mankind's power needs for a full year. But harnessing this energy is complicated by two
properties of sunlight: its diffuseness and its variability with time of day, season and weather
conditions. These factors pose formidable technical challenges for the efficient conversion of solar
radiation into bulk, utility grade electric power. Nevertheless, solar technologies are attractive to
utilities because they are environment-friendly and offer a low regulatory risk, limited capital risk,
and less lead time.

31

Why are experts, according to the passage, looking at the sun as an energy source?
(1) due to depletion of other sources of energy  (2) as other energy forms pollute the environment
(3) increasing costs of other sources (4) all of the above

32

Experts are impressed with the solar energy technologies because...
(1) of them being good for the environment (2) they require less investment
(3) they can be employed in quick time (4) all of these

33

Why is sun such an important source of alternative energy?
(1) it is available free of cost
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(2) it is available everywhere in the world
(3) it can satisfy human energy requirements alone if tapped properly
(4) all of these

34

What is the major difficulty in employing solar energy?
(1) fluctuations in weather (2) by nature sunlight is diffuse
(3) sunlight varies from time to time (4) all of these

35

Why are power generating companies looking at mix energy options?

(1) the sources of energy are getting scarce but demand is increasing

(2) government is controlling prices of electricity

(3) alternative sources of energy are available free and without regulations
(4) all of these

36

Identify the word closest in meaning to the word: "VERSATILE"
(1) limited (2) resourceful (3) permanent (4) invariable

37

Identify the word opposite in meaning to the word: "FORMIDABLE"
(1) alarming (2) frightening (3) terrible (4) insignificant

Read the passage carefully and answer the questions (Q. 38-45) that follow by choosing the best
alternative:

The political system always dominates the entire social scene; and hence those who wield political
power are generally able to control all the different social sub-systems and manipulate them to their
own advantage. The social groups in power therefore have always manipulated the education
systems, especially when these happen to depend upon the state for their very existence to
strengthen and perpetuate their own privileged position. But herein lies a contradiction. For the very
realization of their selfish ends, the social groups in power are compelled to extend the benefits of
these educational systems to the under-privileged groups also. The inevitable task is generally
performed with three precautions abundantly taken care of: One, the privileged groups continue to
be the principal beneficiaries of the educational system, dominate the higher stages of education or
the hard core of prestigious and quality institutions or the most useful of courses, so as to safeguard
their dominant position of leadership in all walks of life; Second, the system is so operated that
under-privileged groups can utilize it only marginally in real terms and the bulk of them become
either dropouts or pushouts and get reconciled to their to their own interior status in society; Third,
the few from the weaker section that survive and succeed in spite of all the handicaps are generally
co-opted within the system to prevent dissatisfaction.

38

Who, according to the passage, can manipulate the systems to their advantage?
(1) social activists (2) popular people
(3) political powerful people (4) all of the above

39

How do socially powerful people try to maintain their privileged position?
(1) by maintaining control over political systems (2) by maintaining control over social systems
(3) by maintaining control over education systems  (4) all of these

40

Why underprivileged sections have to reconcile to their inferior status?
(1) they are unable to effectively utilize the education system

(2) they have no interest in the system

(3) they are illiterate

(4) all of these

41

Which is the best explanation as to why the few from the weaker section that survive and succeed
in spite of all the handicaps are generally co-opted within the system?

(1) to prevent the revolt in the society (2) to satisfy their instinct

(3) to augument the position of the privileged class (4) all of these

42

Which system, according to the passage, dominates the social system?
(1) political system (2) education system  (3) caste system (4) monetary system

43

Identify the word closest in meaning to the word: "PERPETUATE".
(1) abort (2) ruin (3) continue (4) omit
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44 | Identify the word opposite in meaning to the word: "PRESTIGIOUS".
(1) obscure (2) influential (3) esteemed (4) impressive
45 | What is the major idea reflected in the passage?

(1) powerful people are unable to fully control the system

(2) major benefits have been snatched by the underprivileged

(3) both of these

(4) none of these
46 Find the appropriate preposition to fill in the sentence: She lives ....... Mumbai.

(1) at (2)in (3) into (4) on
47 /m/ sound in the word 'make' is....

(1) labio-dental (2) dental (3) bilabial (4) alveolar
48 While writing a notice, the writer should prefer...

(1) active voice (2) passive voice (3) any voice (4) none of these
49 Which of the following organs of speech is also known as 'VELUM'?

(1) hard palate (2) voice box (3) alveolar ridge (4) soft palate
50 Where will you add disclosures in a letter?

(1) below the signature and the right side margin

(2) below the signature and the left side margin

(3) above the signature and the right side margin

(4) any of these
51 The major difference between an 'ARTICLE' and 'SPEECH' is....

(1) speech is more formal (2) speech is more informal

(3) speech is more descriptive (4) all of these
52 'Phonetics' is basically associated with...

(1) sounds (2) sentences (3) grammar (4) all of these
53 Communicative Language Teaching replaced basically...

(1) Natural Language Processing (2) Structural Teaching

(3) Situational Language Teaching (4) Motivational Teaching
54 Remedial teaching...

(2) fills the gap that creeps into a pupil's learning

(2) rectifies the concepts which have been misunderstood

(3) helps in retaining homogeneity in the class

(4) all of these
55 Find the word nearest in meaning to : REMORSE

(1) obdurate (2) hard (3) penitent (4) none of these
56 Learning a language is a...

(1) gradual process (2) fast process (3) instant process (4) all inclusive process
57 Find the word opposite in meaning to : INSIPID

(1) impalatable (2) bland (3) tame (4) savoury
58 Study of meaning in a language is known as...

(1) syntax (2) semantics (3) morphology (4) linguistics
59 Identify the correct passive voice of the sentence: Obey me.

(1) I should be obeyed (2) Let | be obeyed

(3) both,aand b (4) none of these
60 "REGISTER" is...

(1) variety of language according to region in a particular country
(2) variety of language according to countries

(3) any of these

(4) none of these

| PUNJABI LANGUAGE — 30 QUESTIONS (61 - 90)
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35 fo4 U § forrs 57 ug a J&t fe3 yast € 99 §'307 fev' fea sla €39 fe6: (Q. 61-68)
»H A3 A & 753 87 3g7 €t T I8t I fAost a9 a7ea @ At € 7aH 3 ufost Al ger &
gd=93 MU fa+t pagt T3 T 3t I fan € 53 993 fonraa faas a9 951 5, a33WN,
fgHeTaTg, Joedt M3 Je a3 T 8T § farur 31 ars ot fesmatnz Ha ot § w3
dr3T-aa yurs T forrr 31 feg Ag g9 IR »3 Bud3 @3 T f90T T1 mge w3 gartit &t U 3 Ha Y
& Aa=q g fo 3T I wfenT fed st g9 et g9 fea Igt v Afem-sarfen Idtar afswr A fagr
J far feg wufod™ % SEHast W3 egigdt Sighdt |77 aatet 951 fuE-u3a w3
gorei-garat &t Arfeere Y39 B3 a3&T I o Ugd Aiet J| fang-aifant feg fuew ot ot fan
€ fAe =7 Uhwi-U'39 94T T I I6 W3 Wit & muds a3 A7 fagr J1 §a7 & & 39 95t
IF IIMT I&, 99 If3n 3t 575 TU g9t T M3 §BTIAT ET WesTE 3+t 5% U g9t I8 |
fes feurs g ef-dat, Sat-3a w3 gfent § »ialeT d96 Tt weaTet fes-fes =u gt o=
fedat &7 fime €t pe3 feg HwaH gfout & g-3fort 5% a3 o3 77 foor J1 oAUz feg Hatat
@ 75 5% fyses 13T A7 fagr I fesaatm3 feg IS Ha gat J fa fa@fent sm& It Jar-adhut
J It 3ot g5, yafent & = sufiedm a9t A7 four| 3% 94t § 99 I6 W3 §-F&J STHT 93 99 I& |
HAY <9dT @ WeTfenT & w3 @Rtfen 3 U Afeee 578 € A 98 94 95 | UdHaaT & &7 '3
Sor-Te g% feg o gar 7 fagsT uon &t w3 feu 99a goret & mfaw ot #em € foor 31 vee
ST MI I3 YIS AW bt Geraaet fage fagmat € Ufewt e fifarg = & 3fg aretnt a1

61 | g @ AH €t o83 fad fAdt T aret &
(1) [UTIx T It I (2) G=difarar feam T fapnr I
(3) I 375 O< Al € ASH T UfaBT T BT T I T (4) AT T IrEt T
62 | fesHaratn3a fa* va aret I w3 I oA fag yurs T fopar 97
(1) feT AF 99 UF W3 BI93 &e T faar I
(2) feg gusTUe I79& I faar I
(3) feg &f3a FeaT-aH3T €t fagree a9 J faar J1
(4) 7dag fen § 3d< Bt I¥ &t J9 a7
63 | y'39 <7 fuf er a3 fag: aigr Afer I?
(1) ufg=ae TBH I9& (2) fan €37 a9
(3) ATfee™e 439 (4) fow I9 A 95 JI |
64 |y gfont e a3% fag* ats wier 97
(1) HEH Sfant € Wifunrt 3 g8 8 et (2) fedst &7 e F9ad
(3) yIr=t EAnST 9 (4) fegt 3 fewrer fan 39 a6 T9d
65 | grugTat feu Hatat &% fag fagr <9376 g Ater 37
(1) Hatat & He3 et a3t At o5 (2) feg™ Bt TuHT 37aedt AeT Qumay §
(3) fesma Hfdar 3 (4) HdtaT & 75 &8 fugez Sz AfeT JI
66 | gAE Tgar €t yfRut faw yer feg T adt 37
(1) S THI Jid H& Ut 3dta =93< feg (2) Wetsnt & AT feg ere daa
(3) gIHT € Y FIA (4) A A= feg Hadt afae a9a
67 | gafiargT € &F ’F ot § faar 37
(1) TafHe mAETST 3 MBHS UET ST faar I (2) TeH T Y= J faor §
(3) Sgrere I few o faar 3 (4) fegt fo gt < &t
68 | fagrdt Ufemt I d< Mva afa fapur 37
(1) HEg ST 3 FI13 Y& iy (2) 3T T g9
(3) TaH @ BaeTg (4) fegt fod a6t < &at
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35 fou arfe-de § fonrs o785 ug a Jof &3 yast € 99 €30 fev* fea sla €39 fe6: (Q. 69-
75)

W S OHHT G U o ST
JAe e fegug &
Ta w3 feaswg &t u3d
Jggargdtes
8T i S argeT AT
g e ot AT
H &T YT By ST
757 38 gaa |
69 | fen arfe-ge bt ufastrt € gat § Arugs =93d few fau:
(1) §d1 € He's feg g€ a1 arasT IdteT J|
(2) @ & @HHT 9 fapum I M3 A g=-gHt feg A &% araeT gdter J1
(3) FU w3 ferd €@ He's feg Ag gy sla Jer T |
(4) I&-FHT Ire< BT It It T
70 | garQSt ¥ ATS-»dEd HEE fagsT I?
(1) €<t gaar (2) 93t (3) fagus (4) IEt <t ARSI
71 | fegsware v fedut mae fagsT 37
(1) &9 fesu (2) fant (3) sfeanTst (4) Ag®&
72 | ‘Qg T <t FrgeT i €T HieT at Aler feu faw midare € =93 St ot I?
(1) JU MBa9 (2) IB&T MBIT (3) mf3qEat MBag  (4) MSYH MBI
73 | Sher ur 9g-wgud g < fegt feg* faus sia a7
(1) ST MI HIET  (2) ASH M3 efer  (3) fAgAeT w3 e9= (4) M w3 HieT
74 | 3IF AT T A I I?
(1) Y& =dI=T Q)R feg e (3) 3fAz der (4) FIZ®s grergeT
75 | fen arfe-ge feu faes ‘an’ &t gawa I?
(1) @3 an (2) fiarg an (3) §tg an (4) FIT3T IA
76 v AN feg I frysTet & fagst fedt musdt Avaat 9 ?
(1) I&H g1 mftrus (2) rifaa miferus
(3) femaIierg miforus (4) gEd3st TI=I& iU
77 | gt g fAue et fenrdas Ho'I<Yads 38 ver adet J ?
(1)t (2) &t (3) arfew (4) y3T &It
78 | fagst I g9 mMud B ed fee fAyer 31
(1) ufgst g (2) gt gmHT (8) ™3 T (4) I ITHT
79 | ot I@Ibot I fRue feu Hew J9eit 95 ?
(1) (2) fawgs adt (3) &g 53 (4) mrfee
80 | g9 fAust 9T AE® fed' gfoe aeer |
(1) i3 g™ (2) g+t gTHT (3) ufgst g (4) Gugmr
81 | g fAue Bt Ag 3 HOI=Yds Aeg aT Jer J |
(1) Us yA3at (2) g8 &I (3) Yareta® (4) yGamT
82 | g9Tu@ T TI=IS o9 faold I Ins Ay e I
(1) pesllgss (2) pesluzgs (3) uzallfsus (4) guelifeus
83 mrd AN feT A9 3° S0 HU'3<YIs ATS faasT 31
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(1) afuGea (2) Us yR3at (3) feeafel (4) 98 §35

84 | pg® fed €0 faus AT oA fAyeT 7
(1) gsellugs (2) gB<lifgus (3) feueliugs (4) yZaslres
85 | gfomt &t g Ry < muawr faw Igt yawt wiet 31
(1) y&iae fedt (2) Yata® (3) Hfua Uifpyr (4) feust fedt
86 | {< ¥t 9 UArdt, UArt T fAyer & 3 €W Bt faodt g J<qit|
(1) H3 g™ (2) gt gmHT (3) ufg®t g™ (4) feert gmr
87 | pdg gmr 3 dAurImr AU BEt faost feut Hew daet 3 ?
(1) v&tae fedt (2) mig=re feut (3) y3'y feut (4) graw feut
88 | gmr frymret @ fad B T5 ?
(1) 3= (2) 979 (3) € (4) U=
89 | wma AN feu migere feut faost anmg 3 7
(1) Y35 mg=e (2) Muds Me=e  (3) st migEe (4) fenrags Me=e
90 | gmr § fAue et fammaa yeastat 9 7
(1) Gugmr (2) fout (3) femmaas (4) arae ST
SECTION - B
MATHEMATICS (BILINGUAL) — 30 QUESTIONS (91-120)
91 The graph of the equation v = —4 is a line
(1) parallel to x-axis (2) parallel to y-axis
(3) passing through origin (4) none of these
91 | mifgesy =4 erarefeasy T
(1) X - MidH € AHT&T39 (2)y - MaH € AHT&T39
(3) HB-fig I8 graget (4) Quaa3 feg’ Jet =t &t
92 In a two digit number the digit in ten’s place exceeds the digit in unit’s place by 4. The sum of the
digits is 1/7 of the number, then the digit at the unit’s place is
(1)5 (2)4 (3)3 (4)1
92 | g wiat TEt A feg, eR<t g 3 funm Wi ufa® Wi 3 UR wig 578" 4 T I | wiat @ A3 Afr
ar 1/7 3, 3t ufast gt 3 fur i T
(1)5 (2)4 (3)3 (4)1
93 The angle of elevation of the sun when the length of a shadow of a vertical pole is equal to its
length is
(1) 60° (2) 45° (3) 90° (4) 180°
93 | gow <t GuTEl T d<, A€ Hiow ug< €1 ygeTEl € duret fen € d9et € e 99, &
(1) 60° (2) 45° (3) 90° (4) 180°
94 Rational expression :j in the lowest form is
x"—xt+1 x"—x+1 x"txt+l x“txt+1l
(1) —7— ) —/— 5 B)—/— (4)—7
M| fsGaaw gu feu ufan feima 5 &
xT—x+1 x —x+1 x 4x+1 x"4x+1
(1) x+1 (2) x—1 (3) x—1 (4) x+1
95 The volume of the greatest sphere cut off from a cylindrical wood of base radius 1cm and height

5cmiis

Wit @iz (3) 57 cm’ (4) none of these
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95 | 1cm femAau w3 5 Cm T8 € Mg T BT IIB BAZT T A T IV T ofe3s I
(1) ={(57) cm? (2) =7 cm? (3) 57 cm? (4) fegt feg qet <t &t
96 Sum of a number of two digits and the number obtained by reversing the digits of the first number
is 110. If the difference of the digits is 4, then the number is
(1) 62 (2) 73 (3) 84 (4) 51
96 | g gt @t Afnr w7 77 w3 ufost fifienr € wiat § €%er & yruz fifpnr 110 J1 7wt ev g9 4 9
3t A 3
(1) 62 (2) 73 (3) 84 (4) 51
97 The HCF of two numbers is 11 and their LCM is 693. If one of the numbers is 77, then the other
number is
(1) 88 (2) 33 (3) 99 (4) None of these
97 | € fAfiprr=t B HCF 113 LCM 693 T1 7 fea Afwrnr 77 T, 3t gt Afwnr &
(1) 88 (2) 33 (3) 99 (4) feqt feg" aet <t &at
98 The radius of a sphere whose volume and surface area have same value, is
(1) 1 unit (2) 2 units (3) 3 units (4) 4 units
98 | fgq Ji® e foumTay, fAn € Mfeds M3 AST UST S AN HE I
(1) 1 gfaee (2) 2 gfae (3) 3 gfae (4) 4 wfse
99 A man travels some distance at a speed of 12 km/hr and returns at 9 km/hr. If the total time taken
by him is 2 hrs 20 minutes, then the distance is
(1) 18 km (2) 14 km (3) 13 km (4) 12 km
99 | feg mmeMl 12 km/hr €t 9839 575 g¥ €4l 3 d9€T I W 9 Km/hr € 3839 578 TUR WEET T
# €7 & fen few g3 mit 2 we 20 fite Ffaryr 92, 3 gat faat
(1) 18 km (2) 14 km (3)13 km (4) 12 km
100 | Find the smallest number of five digits exactly divisible by 16, 24, 36 and 54.
(1) 10368 (2) 10432 (3) 10560 (4) None of these
100 | {7 gt =78t 2t 3 St Afvd wEH a9 fAR § 16, 24, 36 M3 54 578 Yot 3T Efsm A7 A
(1) 10368 (2) 10432 (3) 10560 (4) feat feg’ aet <t &t
101 | The average of seven consecutive numbers is 20. The largest of these numbers is
(1) 20 (2) 22 (3) 23 (4) 24
101 | '3 gfva Afuret €t %A 20 J1 fegt s rg 3 <31 Afnr 3
(1) 20 (2) 22 (3) 23 (4) 24
102 When the numerator of a fraction is increased by 4, the fraction increases by 2/3. What is the
denominator of the fraction?
(1) 6 (2) 7 (3) 8 (4) None of these
102

H fea fos € »m feg 4 =ur fegr Ater I, 3T 195 2/3 7% U AT J1 95 o 79 (fFaTfHEe9) ot
&
(1) 6 (2) 7 (3) 8 (4) fegt feg agt = &t

The circle graph given here shows the spending (in degrees) of a country on various sports during
the particular year. Study the graph carefully and answer the next three questions. (Q. NO. 103 -
105)

feg fe'gr fez fo'ge fea femm e Savs fan @7 =8 fefds U=t €'yg 98 yavu (fsamt fem) §
wanQer J1 fen fo'3e v fons &8 wfons a9 W3 »ard {35 yast € €39 fe
(Q. NO. 103 - 105)

Tennis
0
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103

What percentage of the total spending is spent on tennis?

(1) 12=% (2) 22=% (3) 25% (4) 45%
103 | g= yav <t f48 yfawzsT Sfan Qua vaw aist A<t
1 1
(1) 12;% (2) 22 % (3) 25% (4) 45%
104 | If the total amount spent on sports during the year was Rs. 2 crores, the amount spent on cricket
and hockey together was
(1) Rs. 8,00,000 (2) Rs. 80,00,000 (3) Rs. 1,20,00,000 (4) Rs. 1,60,00,000
104 | § % & <976 43T §UT ¥au J1St IH gaH 2 A3 I, 3T fgae M3 gat §ue fusT a yew &1t
JaN H:
(1) 8,00,000 FUT (2) 80,00,000 JUE (3) 1,20,00,000 JUT (4) 1,60,00,000 JUT
105 | If the total amount spent on sports during the year be Rs. 180,00,000, the amount spent on
basketball exceeds that of tennis approximately by
(1) Rs.2,50,000 (2) Rs. 3,60,000 (3) Rs. 3,75,000 (4) Rs. 4,10,000
105 | § A5 few 43T Qua H99 13T T 9a 1,80,00,000 JUT I= IT THACT & SUT 13T HagT fanm
€ug 13 HI9 &8 Bagdr faaT T T:
(1) 2,50,000 JUT (2) 3,60,000 JUT (3) 3,75,000 JUT (4) 4,10,000 JUT
106 | A and B can do a piece of work in 4 days and A alone can do it in 12 days. In how many days B
alone can do this work?
(1)5 (2)6 (3)7 (4)8
106 | A w3 B feq aW § 4 fest feg 99 Aae 95 W3 A feas™ fen § 12 fest few g9 FaeT 31 8 fea T
fen o § fas fest feg aoam
(1)5 (2)6 3)7 (4)8
107 | The area of a square is 64 cm* Then its perimeter is
(1) 64 cm (2) 32 cm (3) 46 cm (4) 48 cm
107 | feqr T9ar € 433eB 64 cm’ T| few v ufory 3:
(1) 64 cm (2)32cm (3) 46 cm (4) 48 cm
108 | How many carats are there in one gram?
(1) 3 (2) 4 (3) 5 (4) None of these
108 | feg g few fd& d9e Is:
(1) 3 (2) 4 (3) 5 (4) feat feg d€t adt
109 | What is the next number after the following? 4,9, 25, 49, ?
(1) 64 (2) 81 (3) 100 (4) 121
109 | 35 fofumt goe marst Aferr it 3 4, 9, 25, 49, ?
(1) 64 (2) 81 (3) 100 (4) 121
110 | Divide 50 by half and add 20. From the same, subtract 35. What do you get?
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(1) 10 (2) 85 (3) 15 (4) None of these

110 | 50 & w7 57 3 w3 fen feu 20 /731 €7 fe9' 35 wer fe€ 1 At &t YUz aee o
(1) 10 (2) 85 (3) 15 (4) fegt feg aet =t &dt
111 | What number should be put in the blank box?
7 |5 19 18
6 3 (7 21
4 319
7 4 |8 24
(1) 9 (2) 27 (3) 36 (4) none of these
111 | w3t gan fev faost Afumr Tyt oatet &
7 5 9 18
6 3 7 21
4 3 9
7 4 |8 24
(1) 9 (2) 27 (3) 36 (4) feqt feg aet =t aat
112 | Absenteeism can be stopped by:
(1) Teaching (2) Punishing the students
(3) Giving the sweets (4) Contacting the parents
112 | Jiggradt & faw gt Ffamr a7 AaeT 3
(1) mfoys (2) fefenmaghnt & rar g
(3) TEMT T BTHY ET (4) U™ 57% AUTS TI&T
113 | The mean of five numbers is 26. If one number is excluded, their mean is The excluded number is
(1) 20 (2) 15 (3) 30 (4) 34
113 | 5 Afyprret €t WA 26 T 7 feq Afnr § a'g fegr a2, 3t fegt €t #iAz 24 T & Afear 3
(1) 20 (2) 15 (3) 30 (4) 34
114 | A plot has width of 44 feet and length of 90 feet. What is the size of the plot?
(1) 500 square yards (2) 450 square yards (3) 440 sq. yards (4) none of these
114 | feq yzTe €t 937Et 44 g2 W3 FETE 90 g€ T UBTe T ATElA at &
(1) 500 =9ar Ired (2) 450 <941 ITA (3) 440 <91 ITA (4) fegt feg' aet <t &t
115 | Which of the skills do you consider most essential for a teacher?
(1) encourage children to search for knowledge
(2) have all the information for the children
(3) ability to make children memorize materials
(4) enable children to do well in tests
115 | mifgrrue et AT 3 e R IHSIT fagst It &
(1) fefenragint & farnrs &t &w 3t 837 g3 agaT
(2) gfen Bt Ardt AT YUI J9aT
(3) gfont feg A3 § we s & Hars
(4) gfgnt & ydhuet fe9 99 YEdHa dda © WdT g278<T|
116 In the number 3.4625, the place value of the digit 2 is
(1) 1000 (2) 100 (3) 1/1000 (4) 1/100
116 | 3.4625 AfunT feg, 2 T T HETE HE O
(1) 1000 (2) 100 (3) 1/1000 (4) 1/100
117 | Each digit 1, 2,3,4,5,6,7,8 and 9 is represented by a different letter A, B, C, D, E, F, G, H and | but not

necessarily in that order. Further each of A+B+C, C+D+E, E+F+G and G+H+l is equal to 13. What is
the sum of C, E and G?
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(1)7 (2)9 (3) 11 (4) Cannot be determined

117 | g3a % 1,2,3,4,5,6,7,8 M3 9 & f§5 MY A, B, C, D, E. F, G H ™3 | gTaT @anTfemT famrr 3, ug
wgat a9t fa fegt e g €91 521578, A+B+C, C+D+E, E+F+G ™I G+H+l fe9' 339 13 € sawa J1(,
EM3 GEr Tt &
(1) 7 (2)9 (3) 11 (4) fagufaz &at 3T A Faw
118 | Success in developing values is mainly dependent upon:
(1) government (2) society (3) family (4) teacher
118 | feqmmls W& feu Aes3T ¥y 39 3 fan Gug fsage T
(1) Fga9 (2) ”IHTH (3) ufg=g (4) mifoua
119 | The HCFof (x — 1),(x*— 1) and (x*® — 1) is
(1) (x—1) (2) (x* = 1) B3)(x°=1) (4) (x + 1)
119 | {r—1),(x* — 1) w3 (x*— 1) T HCFT:
(1) (x=1) (2) (x*— 1) (3) (x* — 1) (4) (x+ 1)
120 | One of, the students of a class hardly talks in the class. How would you encourage him to express
himself?
(1) By organizing discussions
(2) By organizing educational games/ programmes in which children feel like speaking
(3) By giving good marks to those who express them'selves well
(4) By encouraging children to take part in classroom activities
120 | gz feg fea fefenadl 593 yafa® &% &@er 31 3At €W § MuS vy § fomas a9s <3
fag* @anrfas adar:
(1) geu = e fids g9 d |
(2) fafedmaHa 43T/UgrHT €7 WTids 99 o A8 89 §33T URE dde 36|
(3) 8aT & 991 Wi € o fagz MruS »ry § Sait 3gt fenaz aoe Is|
(4) gfomt & g™ gi arStfettnt feg forr 8 =z Esrfog ag |
ENVIORNMENTAL SCIENCE — 30 QUESTIONS (121-150)
121 | Which of the following is a biodegradable waste?
(1) Plastics (2) Polythene (3) Glass (4) None of these
121 | 3= foy fe<' fan € fenmy § gea3t I9d 575 (biodegradable waste) & IBTEMT AT AFET T |
(1) yHfed (2) Usfas (3) IBH (4) fegat feg det &dt
122 | Whatis BOD;?
(1) Biochemical Oxygen Demand in 5 hrs (2) Biochemical Oxygen Demand in 5 days
(3) Biochemical Oxygen Demand in 5 months (4) Biochemical Oxygen Demand in 5 minutes
122 | oD, &t T ?
(1) €18 ila® mrartas SHE 5 U (2) TEE ita® mrartHs SHF 5 fes
(3) ITEIQ ta® mratas sHE s s (4) 810 ailas mrawtas siE 5 fise
123 | Dachigam National Park is in which state?
(1) Himachal Pradesh  (2) J&K (3) Tamilnadu (4) Sikkam
123 | gratand gHedt ued faus aw few g ?
(1) fogs ugew (2) A M3 IAdla (3) ITHBSF (4) fafadr
124 | Which of the following has greatest affinity for haemoglobin?
(1) co (2) NO (3) 0, (4) Cco,
124 | fegst f&'S fan €t dHioBefs a8 Ag I TTANSIT T ?
(1) CO (2) NO (3) 0, (4) CO,
125 | White lung cancer is caused by?
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(1) Asbestos (2) Paper (3) Textiles (4) Silica
125 | peeces Twrdndfanss durd ?
(1) WHEHE™H (2) Uug (3) CAACTEIS (4) fafgar
126 | Who started the Chipko Movement?
(1) Kiran Bedi (2) S. L Bahuguna (3) Medha Patkar (4) None of these
126 | “fgud Weews” fan & g 3T ?
(1) fags g<t (2) WH. WM. 9gII&T  (3) HOT U3d'd (4) fegst feg ¢t &t
127 | London smog is found in?
(1) Summer during day time (2) Summer during morning time
(3) Winter during day time (4) Winter during morning time
127 | Fzsetgueae getd ?
(1) It feg fes € A (2) It feg AR =8
(3) A feg fes € AN (4) AGET feg AR <&
128 | The first nuclear disaster occurred in the history of world on
(1) 16" August, 1945  (2) 26" August, 1945  (3) 06" August, 1945  (4) 08™ August, 1945
128 | Arg € fedtom fe'e ufost uae wruer g€ =uet At ?
(1) 16 MJHI, 1945  (2) 26 MJN3, 1945  (3) 06 MJTHI, 1945  (4) 08 MJIHI, 1945
129 | How much percentage of water in the oceans is drinkable?
(1) 97.2% (2) 2.15% (3) 0.65% (4) 0.0%
129 | mjeg & fas ySHs Ut uie @dar 9 ?
(1) 97.2% (2) 2.15% (3) 0.65% (4) 0.0%
130 | A tight whirlpool of wind formed in the stratosphere which surrounds Antarctica is called?
(1) Polar stratospheric cloud (2) Polar Vortex
(3) Both (1) & (2) (4) None of these
130 | a3y 113® few =T o 37 99 fAusT iegdfear § Wo T8 3 Quat au@er g ?
(1) UBd AEcHeIIT & EF (2) UBd SIeaH
(3) €= (1) M3 (2) (4) fegat feg det &dt
131 | Bhopal gas tragedy occurred due to?
(1) Methane (2) Phosgene
(3) Methyl-isocyanate (4) Methyl amine
131 | Jurs I wee fae 7% wet ?
(1) Higs (2) RS (3) HIE® mreRaetse (4) Higs el
132 | Which book has been prepared by International Union for Conservation of Nature and Natural
Resources (IUCN) concerning endangered species of plants and animals?
(1) White Data Book (2) Red Data Book (3) Blue Data Book (4) None of these
132 | guda M3 god3t AATUST (IUCN) & foe™aa Bet #i3ddHed! AW & BUI T aatdt Ufot M3
As<gt € Huy feg faust fagg fama st d ¢
(1) Tete 3TeT g9 (Aew 3eT fagm™) (2) I8 37T I (B'H T fazm)
(3) 98 3¢ 5K (5181 37T fagm) (4) fegst feg aet &dt
133 | The BISHNOI Sect was founded by
(1) B. R. Ambedkar (2) Bhajan Lal
(3) Guru Jambheshwar (4) King of Jodhpur
133 | fgpaet Aydeme fags AEfulg €T At ?
(1) §t.»g. wETad  (2) IAS 'S (3) IT AHEHST (4) AT Yd T IAT
134 | Noise pollution (Regulation & Control) Rules 2001 deals with?

(1) Noise pollution due to fire crackers

(3) Noise pollution due to public address system

(2) Noise pollution due to loudspeakers
(4) Both (2) & (3)
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134

48T yggHe (fsfimis W3 ag) fsw 2001 fae s fafaa § ?

(1) ueTfept 3 38T uggne (2) 383 Mitgd 3 I8 UIgHe
(3) ArdSAfed HEUS YISt 3 38T UdThs (4) €< (2) M3 (3)
135 | When did Supreme Court of India ordered Ministry of Environment & Forests to establish a special
division to develop a green belt around Taj Mahal?
(1) 2004 (2) 1994 (3) 1984 (4) None of these
135 | grgg @ FUIHAE & ITH HIT® & M8 -g 8 A& 88 5279 BEt TI7ade M3 Has 3 13THT
gae menfed ?
(1) 2004 (2) 1994 (3) 1984 (4) fegst feg” aet a4t
136 | When was PROJECT TIGER launched?
(1) 2011 (2) 1970 (3) 1973 (4) 2007
136 | {#ge eetae g€ By dfemm ?
(1) 2011 (2) 1970 (3) 1973 (4) 2007
137 | What type of radiation is trapped on the earth’s surface by the green house effect?
(1) UV rays (2) y -rays (3) X-rays (4) IR rays
137 | yast €t A3T 3 JEts TEW § yIfes aoe =8t faust =fafes §et 9 7
(1) vV faget (2)y -faget (3) X -fag=t (4) IR fag=t
138 | Which of the following is responsible for global warming?
(1) Chloro-flouro carbons (2) Methane
(3) Carbon dioxide (4) All of these
138 | 3= fafumt feg’ aBE® Tafitar W3 d< fiHea I ?
(1) IBI-THBJ A9IS 2) fvas (3) IIIS SEPHTIATES (4) ug feg A/g
139 | High concentration of which of the following causes leaf curling, leaf drop and reduced leaf size in
plants?
(1) so, (2) co (3) NO, (4) None of these
139 | faws f<'S fan & €= feamamaT, u'sT Fafdar, U'St w3 gémit feg we St Rgu M3 ySTsayer
FIS g I ?
(1) SO, (2) CO (3) NO, (4) fegat feg det &dt
140 | Silent Valley, which has been raised to the status of National park, is situated in?
(1) J&K (2) Tamilnadu (3) West Bengal (4) Kerala
140 | ya W (silent valley) fAng aHedt ued & €T feaT famur § €9 fa g Afg3 T ?
(1) A9 M3 Ila (2) ITH® &5 (3) ygoHt §ars (4) AIBT
141 | Which of the following device(s) is used to control particulate pollutants?
(1) Gravity settling chamber (2) Cyclone collector
(3) Fabric filter (4) All of the above
141 | g= yggHe § Ja< B! I fou feg faus Quase &t =ed aist AiEt 3 ?
(1) JIfe Fefdar OHEa (IGIToRS BlUe IaH) (2) ATEI8 S aBACT
(3) eofax feBea (4) Bus f& g Ara
142 | Environment Impact Assessment(EIA) was formally established in USA in year
(1) 1967 (2) 1969 (3) 1971 (4) 1973
142 | grgregs ygrfea AT (Environment impact assessment) midtar fes faos e rerfuz aist
aret ?
(1) 1967 (2) 1969 (3) 1971 (4) 1973
143 | The Greenhouse effect was first recognized by?

(1) Jean-Baptiste Greenwood (2) Jean-Baptiste Fourier
(3) Jean-Baptiste Greenhouse (4) None of the above
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Jets oEw € yge €t ye'e A 3 ufost fas st ?

(1) fis-gufere Tdta=ss (2) Ha-gufene efora
(3) Fia-gufene adts TER (4) fegst feg' gt &at
144 | Which of the following acid is present in Acid rain?
(1) HNO; (2) H,S0,4 (3) CH3;COOH (4) Both (1) & (2)
144 | 35 fofumt feg’ mizte <our feg faosT 3avg ufemr AfeT § ?
(1) HNO; (2) H,S0, (3) CH;COOH (4) 8= (1) M3 (2)
145 | Ten percent law is given by
(1) Lindmann (2) Goldmann (3) Beckmann (4) None of these
145 | en yStH3 T74& (Ten percent law) fam & fe3r ?
(1) féshs (2) FBSHS (3) ¥ H& (4) fegst feg aet aqt
146 | Traces of radioactive waste present in water can cause?
(1) Cancer (2) Eye cataract (3) DNA breakage (4) All of these
146 | yr=t fe'g ue Are =8 310Ut g3 € fom™s (traces of radioactive waste) fam € g9 g Aae
J&5 ?
(1) aFg (2) Wiyt & i3t e (3) DNA €t ge ge (4) Bus fou Arg
147 | Everyone has the right to a Nationality is covered in .............. of Universal Declaration of Human
Rights ?
(1) Article 10 (2) Article 15 (3) Article 20 (4) Article 25
147 | go faR & THSIHST T TT T v, feg WmAeT WG At get 7% f&uet et T (universal
declaration of human rights)
(1) M3das 10 (2) IS 15 (3) Maeta 20 (4) IS 25
148 | Which of the following is a non-governmental organization dedicated to wildlife conservation?
(1) World Wildlife Fund for Nature, INDIA (2) Indian Board for Wildlife
(3) National Wildlife Action Plan (4) All of these
148 | g5 fofumt feg* faozT drangardt merer HaEt Fie Ifpn et 958w T ?
(1) 9793 feg A9 @ god3t A8t Hist et e (2) Fite Iy BT I3t §9F
(3) IHedt HaBT diT Irferarast GAsT (4) Gug fou Ag
149 | How much area is covered under forest in India?
(1) 33.47 % (2) 29.47 % (3)22.47 % (4) 19.47 %
149 | groz feo fom 3 T 439 f4s ySHa T 7
(1) 33.47% (2) 29.47% (3) 22.47% (4) 19.47%
150 | The situation of depletion of Ozone layer is referred as OZONE HOLE, if the ozone level decreases
below
(1) 800 DU (2) 400 DU (3) 200 DU (4) None of these
150 | fg9 Wr&s AST (Ozone layer) few 3* <t J&T weet JrEt 3t faus g3t fE9 Wins € weet ya3s
WS 9% Wyt ArEal ?
(1) 800 DU (2) 400 DU (3) 200 DU (4) fegat feg’ aet &dt
ROUGH WORK
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